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#include "stdio.h"
#include <math.h>
struct BTNode

BTNode *left;
BTNode *right;
Int value;

1
struct BTNode *new_node(int x, struct BTNode *y, struct BTNode *Zz)

struct BTNode *w = new BTNode();

w->value = X; “ . —

w:zlrieéth? v } A > )\ value, left, right (CIEZT v &
jrerm BIRE2 , 3, 4 ClERE
int _tmain()

int ch;

BTNode *root;

root = new node( 100, NULL, NULL ):

printf( "Enfer ¥—%1 2B LT EEWN. TOYSAERTULET "),
ch = getchar();

ch = getchar();

return O;
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#include "stdio.h"
#include <math.h>
?truct BTNode

BTNode *left; e Lo,
BTNode *right;
int value;
%’oid print_data( struct BTNode *root )
ifér?ﬁ?_tazltea{(t r!;ol}l-lilLeLft)){; In-order T%%%ﬁﬂ_\
I}brintf( "9d¥n", root->value ); (in-order (CDUL\YTC(Z4&uh)

If (root->right '= NULL ) {
print_data( root->right’);

struct BTNode *new_node(int x, struct BTNode *y, struct BTNode *z)

struct BTNode *w = new BTNode();
w->value =X;

w->left =v;

w->right = z;

return w;,

Int _tmain()

int ch;
BTNode *root;
root = new_node( 35,
new_node( 21
new node(13, NULL, NULL),
NULL),

de(46 .
new—rqgw(inodegm, NULL, NULL), 2 DARDE

new_&odelz_Gl,
it dat ) new_node(69, NULL, NULL))));
rint_data( roat ); . o
Brintf( " Enger F=Z12E LTS EESWN. O35 L& ETULERIT¥");

ch = getchar();
ch = getchar();

}return 0; .13
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* in-order TOFER
void print_data( struct BTNode *root )

If (root->left I= NULL ) {
print_data( root->left );

printf( "%d¥n", root->value );
If (root->right '= NULL ) {
print_data( root->right );
}
}
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#include "stdio.h"
#include <math.h>

{struct BTNode
BTNode *left;

BTNode *rlght Prateuse Lak.
int value;

}struct BTNode *find_node(int x, struct BTNode *root)

BTNode *node

node =

Whl|e(£ node I= NULL ) && ( x !=node->value ) ) {
if (X node>value){

foe e Rx (RDMh50Fnd NUL

eInsoed{e = node->right; s
) ' ZiR9)

return node;
struct BTNode *new_node(int x, struct BTNode *y, struct BTNode *z)

struct BTNode *w = new BTNode();
w->value =X;

w->left =y;

w- >r|ght =z,

returin w;

int _tmain()

int ch;
BTNode “root;
BTNode *y;
root = new_node( 35,
new_node('21
new_hode(13, NULL, NULL),
NULT),

y. A B
new ngve(n%degm NULL, NULL), 2 DARDE
new_node(61

ULL,
new _node(69, NULL, NULL)))):
y:flnd node( 40, root );

pr}/n?f:( 4OL(5:.. L¥n");

t_,_a

prln{tf( 40 (EBD¥n" ),
pHntf( 'Enter -‘-F—’&l 2EHRLTLKEESWVWN. OS5 L& ETUE T "),

getchar

ch etchar
}retur% 0; ® 19
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struct BTNode *find_node(int x, struct BTNode *root)
{
BTNode *node;
node =root;
while( (node '=NULL ) && ( x '=node->value ) ) {
If (X <node->value) {
node = node->left;

}
else {
node = node->right;
}
}
return node;

}
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|nt value;

El’oid print_data( struct BTNode *root )

if (root->leff 1= NU
p(r|rnt dataz root- >"eft) ){

rintf( "%d¥n", root->value );
f (root->right 1= NULL
print_data( root->right’),

%truct BTNode *new_node(int x, struct BTNode *y, struct BTNode *z)

struct BTNode *w = new BTNode();
w- >v lue =Xx;

w->le th
W->T] t =7
retur

truct BTNode *insert_node(struct BTNode *node, int x)

if gnode == NULL ) i
return new_node(x, NULL, NULL);

else jf (x <node->value
node->left = insert nod)einode >left, x);
return node;

else if x > node->value ) {
node- ht =insert_node(node->right, x);
return n de;

Ise {
return node;

int _tmain()

int ch;
BTNode *root;

t,
insert—node( root,
Insert—node( root,
Insert—node( root,
insert_node root,
insert—node(r ,
rint data{ro )
r|nt

etchar 3

ﬁetchar
retur 0;
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struct BTNode *insert_node(struct BTNode *node, int x)

{

If (node == NULL ){
return new_node(x, NULL, NULL);

}

else if (X <node->value) {
node->left = insert_node(node->left, x);
return node;

}

else if (x > node->value ) {
node->right = insert_node(node->right, x);
return node;

}

else {
return node;

}
}
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